N & 0

20199 &= 20lla LB IIEISERH =AM

& AR E A A

SN AUFBDY
HE: FIBYS oYY 2B
Chel: MAF JIHHAIE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o= AHE M 26,945,477 23,860,681 3,084,796
= 1,956,800
s 15,158,000
CS 9,830,677
ZHEJE= HYller &= 26,905,284 23,821,253 3,084,031
= 1,956,800
s 15,158,000
< 9,790,484
AL JIBHAIY &= 11,706,384 9,423,753 2,282,631
= 950,000
s 7,162,000
= 3,594,384
AN L L H (XXM ) (Y AEHZAN(=D) 52,000 52,000 0
= 26,000
= 26,000
403 A X EHHS =0l A 52,000 52,000 0
= 26,000
< 26,000
02 SO 2SO HSHAHE X 2| &AL H 52,000 52,000 0
O AEHZAL 52,000
= 26,000
< 26,000
AL H (XXM ) (HGAH L2 H ) (2 1) 82,250 82,250 0
= 70,000
< 12,250
202 O4dl 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
OAZHHY F=IMA 7,000
403 MtXISHHE X201 & 75,250 75,250 0
= 70,000
< 5,250
01 XM A=2EE 75,250 75,250 0
ogetod 2 A 75,250
= 70,000
< 5,250
HEHLAHFES (=) 681,657 516,886 164,771
= 604,000
= 77,657
403 A X EHHS =0l A 681,657 516,886 164,771
= 604,000
< 77,657
01 X HHMA=2LE L 681,657 516,886 164,771
HE2HE0 7 ESAY 681,657
= 604,000
< 77,657




SA SMEUDY
Bu: Zmeige ooy 25
Chel: MAF JIHHAIE &5 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Aol Mad SO 490,860 292,000 198,860
202 O4dl 11,000 11,000 0
01 = LH YI 11,000 11,000 0
O Y Mid S 11,000
308 XXM S0 A 126,860 113,000 13,860
01 IXNHHBNEES 126,860 113,000 13,860
O==4t0lo] & J1@ &AL X 50,000
O2JtAtel =0HAHY 76,860
403 XAXISHHM S K201 353,000 168,000 185,000
01 XXM A2E = 353,000 168,000 185,000
OFXIYOY MHAZXA 190,000
OFXNZ AAIXA 63,000
O FPAYM EXII M XA 10,000
OtSLE3 ARY Y WSAIE AE 90,000
RXEH 22l (K)o 82 & (THOHH S K08 Al 6,875,000 6,375,000 500,000
B (=)
s 5,500,000
< 1,375,000
401 Al B2 2B 6,875,000 6,375,000 500,000
s 5,500,000
< 1,375,000
01 A& HI 6,858,000 6,360,000 498,000
OMooiH XZEAHE AL EHI 6,858,000
s 5,486,400
< 1,371,600
03 Al =20 HI 17,000 15,000 2,000
OTHoH 5 2t XU Al FHI 17,000
s 13,600
< 3,400
UBtsAHENY (2 1) 1,662,000 931,000 731,000
as 1,662,000
403 XAXISHM S K201 A 1,662,000 931,000 731,000
s 1,662,000
01 X SHMA2E X 1,662,000 931,000 731,000
ontste Ssoie 1,627,000
o 1,627,000
OXY A2AsHALY 35,000
s 35,000
Ngoe A= 262,617 262,617 0
401 Al HI & 28I 205,617 205,617 0
01 A& HI 204,000 204,000 0
oxgus =22 204,000




LR
%

HE: FIBYS oYY 2B
CHOl: M4 JIBAIA 85 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 1,617 1,617 0
oxgog 222 1,617
403 MHXISHE X201 E 57,000 57,000 0
01 X SHHAN2E= 57,000 57,000 0
OXg X HEFFOEY AI=2t2| 57,000
HEF=0ENY 590,000 368,000 222,000
403 A X EHHS =0l A 590,000 368,000 222,000
01 X EHHMA=LE L 590,000 368,000 222,000
OHEZF0E MY 390,000
OEMIHEANY E& 200,000
HEsagdX(21) 500,000 500,000 0
= 250,000
< 250,000
403 XIS S X201 & 500,000 500,000 0
= 250,000
< 250,000
02 SO 2SO0 HSHAHE X 2| &AL H 500,000 500,000 0
OESSANAEH XA 500,000
= 250,000
< 250,000
Ol &7 €300 510,000 0 510,000
403 HXSHHSA=0l& 510,000 0 510,000
01 X SHHMA=ZLE X 510,000 0 510,000
OUE=E300 510,000
Jz2s0g =4 8,606, 100 7,734,300 871,800
= 256,800
s 5,146,000
= 3,203,300
AIBAHZAIE (=) 3,750,000 3,750,000 0
s 3,000,000
< 750,000
401 Al HIZ 201 I 3,750,000 3,750,000 0
s 3,000,000
< 750,000
01 A& HI 3,738,000 3,738,000 0
OABUH=EAIL 3,738,000
s 2,990,400
< 747,600
03 Al S HHI 12,000 12,000 0
OABUH=EAIE 12,000
s 9,600
= 2,400
ASHEZAS (H=AHEESEZ)(ZD) 683,750 436,000 247,750




M A
Bu: Zmeige ooy 25
g2 JIZ2Edg 84 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
e 547,000
< 136,750
403 X SHHS =0l & 683,750 436,000 247,750
s 547,000
< 136,750
02 B 2SOlCHeH 2 X 2 E A I 683,750 436,000 247,750
OHE=NHE E= - 22 683,750
s 547,000
< 136,750
OIZHEA (BICh=X2H)(=2) 673,050 588,000 85,050
s 641,000
< 32,050
403 XIS S X201 & 673,050 588,000 85,050
s 641,000
< 32,050
01 AXSHMA2E = 673,050 588,000 85,050
otttt==x4 673,050
s 641,000
< 32,050
o EH2E (=) 1,044,300 967,300 77,000
s 958,000
< 86,300
207 A& 10,000 10,000 0
NEEEETT 10,000 10,000 0
O==4tE R & DA & 10,000
403 MtXISHHE A0l & 1,034,300 957,300 77,000
s 958,000
< 76,300
01 XM A=2EE 856,800 788,550 68,250
OB L Z(GHH) 856,800
s 816,000
< 40,800
02 SO 2SOICHsH A2 X 2| & A I 177,500 168,750 8,750
O=NMSAMHYYF SUZA 177,500
as 142,000
< 35,500
sy LAY SLHAE(22) 100,000 130,000 A 30,000
= 100,000
403 X SHHSA=0l& 100,000 130,000 A 30,000
= 100,000
01 X SHMA2E X 100,000 130,000 30,000
Oln+2 e XA 100,000
= 100,000
AU XNES (A EBE)(=1) 138,600 440,000 A 301,400
= 126,000




SN AR
HE: FIBYS oYY 2B
©el: Jl2s0Y |4 CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 12,600
403 XX SHHS K20 & 138,600 440,000 A 301,400
2 126,000
= 12,600
01 XIS A=Z2E X 138,600 440,000 A 301,400
ONHUHXIE2AA 138,600
= 126,000
& 12,600
ademgez2(=210) 39,600 45,000 A5,400
= 30,800
< 8,800
403 XX SRS K 20| & 39,600 45,000 AN5,400
= 30,800
& 8,800
01 MXHHXE2BE =X 39,600 45,000 A5,400
OXEsARHEEZ 39,600
2 30,800
o=t 8,800
HAOF & MAHA 22 1,996,800 1,258,000 738,800
201 gBt2Ad| 3,000 3,000 0
01 AP 22| H| 3,000 3,000 0
Os)lolla ==dAME TEHEE2s 29 3,000
202 04| 9,000 9,000 0
01 2Ll 9,000 9,000 0
OLAMIE ZAEANY =&/ 9,000
308 AMXISHMSOIA 20,000 0 20,000
01 HXHHIMNEEXTZ 20,000 0 20,000
OO CHEZHl XK (HFAA) 20,000
403 XX SHHS K20 & 1,964,800 1,246,000 718,800
01 XS A2 X 1,964,800 1,246,000 718,800
OdHH XAA X 268,800
OdHEXE= AHIMH &Z 156,000
OWH=8 bt I ZALMEH S 180,000
OS=oHet CIAIOF RIS = 60,000
O ZEJteldl Meee arAl 15,000
o2 ANA - AtetE XM 315,000
OOl & MBS kAl 330,000
Odfa EgtAAHR =4 540,000
OOt MEjEtHE 53 100,000
SUMB MNBNAY ZS(ZNEZNL) 180,000 120,000 60,000
403 XX SHHMS X201 A 180,000 120,000 60,000




LR
%

HE: AW 0D HE
g2 JIZ2Edg 84 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 180,000 120,000 60,000
O+t ZEHS A MY 180,000
SEAME =4 2 =42 OHXIMD 6,592,800 6,663,200 AT70,400
= 750,000
s 2,850,000
< 2,992,800
SUSUTNSAEHE (2 1) 858,000 577,200 280,800
s 660,000
< 198,000
403 MtXISHHE X201 E 858,000 577,200 280,800
s 660,000
< 198,000
01 XS M A=2EE 858,000 577,200 280,800
O==&S LI INSAE 858,000
s 660,000
< 198,000
o2 REANLEHE (F 1) 1,267,200 2,345,000 A 1,077,800
s 990,000
< 277,200
403 UHXISHHE X201 H 1,267,200 2,345,000 A 1,077,800
s 990,000
< 277,200
01 X HHMAZE L 1,267,200 2,345,000 A 1,077,800
O=d&=s RS=FdH 1,267,200
= 990,000
< 277,200
FASEHEHINZHE (=2 1) 1,470,000 1,470,000 0
s 1,200,000
< 270,000
403 XSS A=0l& 1,470,000 1,470,000 0
s 1,200,000
= 270,000
01 HXSHMA2E X 1,470,000 1,470,000 0
=2 MXANE fSHH HE 1,470,000
s 1,200,000
= 270,000
SoAN EO - EXXFAI(2D) 1,500,000 1,500,000 0
= 750,000
< 750,000
307 21201 A 1,500,000 1,500,000 0
= 750,000
= 750,000
02 QB AAHEX 1,500,000 1,500,000 0
Ox=4hoty &g - EXXA 1,500,000
= 750,000




LR
%

Bu: Zmeige ooy 25
2 RSAE =4 E 442 M2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 750,000
M2 IS . SSIIBAIE 2 B2 H 1,053,800 501,000 552,800
202 O4dl 9,000 9,000 0
= LH 04 H 9,000 9,000 0
O==&E IS - RSIIBAIE 9,000
308 XXM SO A 32,400 28,000 4,400
01 IXNHHBNEES 32,400 28,000 4,400
Ox=4&t=2 = SIS A X 20,400
ORENH HAZRXAIR 12,000
403 MtXSHHS =0l & 1,012,400 364,000 648,400
01 HIXSHMA2E X 1,012,400 364,000 648,400
OZHE2 M2MEAIL K& 50,400
Ox=ttE ABZTAIE HH 127,000
OU=0l SstazHE XH 15,000
O - A 20l&GHE AE 30,000
O=4tE FIEZ HIJIEAIE ] 180,000
OxM=ESSE=E SSH=XMAE JIsiid 600,000
O=4g(01Y) A=xD 22 X 10,000
Y o= 2 FHl 325,000 153,000 172,000
403 X SHHSA=0l& 325,000 153,000 172,000
01 HXSHMA2E X 325,000 153,000 172,000
OREHRX =2 A& K& 325,000
23 ey 245t 118,800 117,000 1,800
308 X XIEHHSOIA 86,400 70,000 16,400
01 IXNHHBANEES 86,400 70,000 16,400
OZEHLY Z2AEF SEEHA 86,400
403 A X EHHS 20l A 32,400 27,000 5,400
TAXEHA=E X 32,400 27,000 5,400
OLY YEHAY ZAST HEY 32,400
HE2H I (LD 40,193 39,428 765
2l 40,193 39,428 765
A2d Jl=23l 40,193 39,428 765
201 Let249] 19,763 18,998 765
01 At 22/l 19,763 18,998 765
ORAM2Y AtR2ell 19,763
202 Od4dl 16,830 16,830 0
01 = LH o4 1 16,830 16,830 0
ORA2Y =UAb 16,830
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